Algebra ll Sequence and Series Review
Defermine whether each sequence is arithmetic or geomefric. Then identify the common difference
or the common ratio.
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Deﬂermme whether each sequence is arithmetic or gjeomefuc Then find the ninth term.
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Generate the first four terms of each sequence; r is @ common ratio, csnd d is a common difference.
8 ar=2,r=-2 ?) a1=3,d=7 lOcn——lOOr—— 11) a1 =19, d=-4
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12) Use the sequence to answer the following questions: 4.5, 3.3, 2.1,
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13) Use the sequerice To answer the following questions: 8, 12, 16, ...
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Find the next three terms in each geometric sequence.
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Tell whether the secuence is geometric. If yes, write the explicit and recursive formula.
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Find the missing term. \ T
19) If an :‘;*Or.-l and a1 = -100, what is as? Qb - \OO ('—5)
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Find the sum to the given term. a, =} n=0L
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Find Sn for each arithmetic series.
26) a1 =50,n=20,d=-4

Q,,= 50+ (20 -1 Y-4)
0y = -20

S =2;‘_9_(50,2(ﬁ) 27) a1=76,n=16, an=3l
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Find a) for each geometric series.
28) Sn=1031,r= 2 =5
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